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! ni; 841,213 1,287,732 A 446,519
J| 811,213
Al 30,000
=y k=3 779,603 1,232,957 A 453,354
| 779,603
o 2 (EMNLASSESIAH) 779,603 1,232,957 A 453,354
| 779,603
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| 611,580
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2,249,000 2,249
| 2,249
401 A& BIZ 201 8] 471,331 938,825 ANABT7,494
| 471,331
01 A& HI 471,331 935,225 A 463,894
OUSULA FUXAAL (L)
471,331,000& 471,331
| 471,331
402 RI2EXt20l ™ 138,000 138,000 0
| 138,000
02 212t X2 AL E = (01X THE) 138,000 0 138,000
OUEYLH FUNANL(HE)
138,000, 000& 138,000
| 138,000
sZ=H ZAEs & HEXA 168,023 152,912 15,111
| 168,023
101 @124 dl 88,223 83,465 4,758
| 88,223
4 JI12ZtHZ2REE+ 88,223 83,465 4,758
OaxJAES A ZAl 80,000,000& 80,000
J| 80,000
OF2UXNIANY JNI=XZ ZA 8,223,000& 8,223
| 8,223
201 LBt2E| 54,800 54,447 353
| 54,800
01 At 22l 25,000 15,000 10,000
O Yet==EH| 25,000
ocOHHE HFA AX| 15,000, 000& 15,000
| 15,000
CIISMANE HMHES 22 10,000, 000& 10,000
| 10,000
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02 2224 H| 29,800 39,447 N9,647
OZ2Z2=2L A 9,800,000 9,800
J| 9,800
OAaL=RABS A AL EH R AXH 20,000
CMAATERO YT U TEA Hy|
,500,000& 9,500
J| 9,500
oMLATERA AAEL RAEZL
1,000, 0008 1,000
J| 1,000
oA LAY S A AKX L S AL Y|
SN2 9,500,000& 9,500
J| 9,500
401 AIEHIZL 201 Y| 25,000 15,000 10,000
Jl 25,000
01 Al&H| 25,000 15,000 10,000
OALR/ABS A B AMZI| 25,000,000 25,000
J| 25,000
WRE=(2FAM) 61,610 54,775 6,835
J| 31,610
Al 30,000
HWEHANKNS(EMAALELS H) 31,610 34,775 N 3,165
J| 31,610
LHEAHH K= 31,610 34,775 N 3,165
J| 31,610
701 JIEISI HSHE2 31,610 34,775 N3,165
J| 31,610
01 JIEIS HE &2 31,610 34,775 N3,165
OSAIIZALE(OI2ZARLZ)29H|
3,746,000 3,746
J| 3,746
OEHAIZANE(2RHARRD)2HY|
27,864,000 27,864
J| 27,864
BEXES(FENLANLELEEAH) 30,000 20,000 10,000
BEXE(XSEH-BHL) 30,000 20,000 10,000
802 Btet= | Ef 30,000 20,000 10,000
01 2DEX3Bta =2 30,000 0 30,000
oHYs2dEAHINIZ2 BtEt =2 30,000,000 30,000




